Algebra 1 ECA Remediation
Homework 36.1
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Solve each equation by factoring,.
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Find the valueof ¢ that completes the square.
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Solve each equation by completing the square.
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Solve each equation with the quadratic formula.
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Solve each equation by taking square roots.
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Solve each equation by factoring.
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Answers to Homework 36.1

1) {-6,-3} 2) {5, -4} 3) {5,-7} 4y {-7,0}
5) {-7} 6) {5, 2} 7) 169 8) 256
9) {~1,-7} 10) {5+/11,5-~/11} i {6 _21}
T 73
1 1 1 1 .1 1
12) {45, —»6} 13) {22, —22} 14) {1? —1§} 15) {—5, 4}
16) {l’ _2} 17) No solution. 18) {0}
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